
SAP ABAP table MATGRP_HIER {Article Hierarchy Properties}

MATGRP_HIER

MANDT [CLNT (3)]

HIER_ID [CHAR (2)]

NODE [CHAR (18)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

MATGRP_STRUC

MANDT [CLNT (3)]

HIER_ID [CHAR (2)]

NODE [CHAR (18)]

 MATGRP_HIER-NODE = MATGRP_STRUC-NODE 
{0,1}

1

T000

MANDT [CLNT (3)]
 MATGRP_HIER-MANDT = T000-MANDT 

0..N

1
TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 MATGRP_HIER-VKORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 MATGRP_HIER-VTWEG = TVTW-VTWEG 

0..N

1


